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QUESTION 1

In the VMware environment, the single-choice scenario where VADP cannot be used for backup is: A. Thick Disk
B. Thin Disk

C. The storage is directly connected to the virtual machine

D. VMDK

Correct Answer: C

QUESTION 2
The following statements about N8500CIFS sharing are correct: Multiple choice (multiple choice)

A. If you don\\'t need to distinguish between users who restrict access to the shared directory, you can choose normal
sharing

B. If you do not need to distinguish between users who restrict access to the shared directory, you can choose homeedir
share

C. In normal mode, the client can only access the share through a VIP
D. Compared with the normal mode, the cluster mode has higher data reliability, but lower performance

Correct Answer:. AB

QUESTION 3

On the storage device, through which of the following configurations, the alarm information can be saved to the
designated FIP server ()

A. Alarm dump

B. Email notification

C. Configure Syslog notification
D. Configure SNMP

Correct Answer: A

QUESTION 4

Huawei\\'s end-to-end active-active data center solution is divided into 6 layers, the six layers are:

Latest H13-624 Dumps | H13-624 PDF Dumps | H13-624 Practice Test 2/3


https://www.passapply.com/h13-624.html
https://www.passapply.com/h13-624.html
https://www.passapply.com/h13-624.html

VCE & PDF https://lwww.passapply.com/h13-624.html|
2024 Latest passapply H13-624 PDF and VCE dumps Download
PassApply.com

A. Storage layer, session layer, application layer, network layer, transport layer and physical layer
B. Storage layer, session layer, application layer, network layer, transport layer and security layer
C. Storage layer, computing layer, application layer, network layer, transport layer and security layer
D. Storage layer, computing layer, application layer, network layer, transport layer and physical layer

Correct Answer: C

QUESTION 5

The LUN size relationship between production storage and disaster recovery storage configuration remote replication is:
the capacity of the secondary LUN is greater than or equal to the capacity of the primary LUN.

A. True
B. False

Correct Answer: B
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